

CORPORATION DIVISION
CERTIFICATE OF GOOD STANDING

I, ROBIN CARNAHAN, Secretary of the State of Missouri, do hereby certify that the records in my office and in my care and custody reveal that

GREEN HILLS TELEPHONE CORPORATION T00000570B

was created under the laws of this State on the 13th day of May, 1952, and is in good standing, having fully complied with all requirements of this office.

IN TESTIMONY WHEREOF, I have set my hand and imprinted the GREAT SEAL of the State of Missouri, on this, the 14th day of June, 2011

Secretary of State
Number: 13911586-1 Reference:

Certification Number: 13911586-1 Reference: Verify this certificate online at https://www.sos.mo.gov/businessentity/soskb/verify.asp

nangsangangangangan kanangsangangan pangsangan sanggangangan kanangsangangangangan kanangsangangan kanangsangan







CORPORATION DIVISION CERTIFICATE OF GOOD STANDING

I, ROBIN CARNAHAN, Secretary of the State of Missouri, do hereby certify that the records in my office and in my care and custody reveal that

GREEN HILLS AREA CELLULAR TELEPHONE, INC. 00366563

was created under the laws of this State on the 20th day of May, 1992, and is in good standing, having fully complied with all requirements of this office.

IN TESTIMONY WHEREOF, I have set my hand and imprinted the GREAT SEAL of the State of Missouri, on this, the 14th day of June, 2011

Secretary of State Certification Number: 13911587-1 Reference:

Verify this certificate online at https://www.sos.mo.gov/businessentity/soskb/verify.asp







CORPORATION DIVISION CERTIFICATE OF GOOD STANDING

I, ROBIN CARNAHAN, Secretary of the State of Missouri, do hereby certify that the records in my office and in my care and custody reveal that

HOLWAY TELEPHONE COMPANY T00000641

was created under the laws of this State on the 5th day of October, 1961, and is in good standing, having fully complied with all requirements of this office.

IN TESTIMONY WHEREOF, I have set my hand and imprinted the GREAT SEAL of the State of Missouri, on this, the 14th day of June, 2011

Secretary of State
Certification Number: 13911588-1 Reference:

Verify this certificate online at https://www.sos.mo.gov/businessentity/soskb/verify.asp

STANDER THE STANDES DENDESTING STREET, STREET, STREET, STREET, STREET, STREET, STREET, STREET, STREET, STREET,

THE

Exhibit 14





CORPORATION DIVISION CERTIFICATE OF GOOD STANDING

I, ROBIN CARNAHAN, Secretary of the State of Missouri, do hereby certify that the records in my office and in my care and custody reveal that

IAMO TELEPHONE COMPANY

using in Missouri the name

Certification Number: 13911589-1

IAMO TELEPHONE COMPANY F00014600

a IOWA entity was created under the laws of this State on the 16th day of March, 1962, and is in good standing, having fully complied with all requirements of this office.

IN TESTIMONY WHEREOF, I have set my hand and imprinted the GREAT SEAL of the State of Missouri, on this, the 14th day of June, 2011

Secretary of State

Verify this certificate online at https://www.sos.mo.gov/businessentity/soskb/verify.asp

Exhibit 15





CORPORATION DIVISION CERTIFICATE OF GOOD STANDING

I, ROBIN CARNAHAN, Secretary of the State of Missouri, do hereby certify that the records in my office and in my care and custody reveal that

KINGDOM TELEPHONE COMPANY T00000602

was created under the laws of this State on the 28th day of April, 1955, and is in good standing, having fully complied with all requirements of this office.

IN TESTIMONY WHEREOF, I have set my hand and imprinted the GREAT SEAL of the State of Missouri, on this, the 14th day of June, 2011

Secretary of State

Number: 13911590-1 Reference:

Certification Number: 13911590-1 Reference:
Verify this certificate online at https://www.sos.mo.gov/businessentity/soskb/verify.asp

THE

Exhibit 16





CORPORATION DIVISION
CERTIFICATE OF GOOD STANDING

I, ROBIN CARNAHAN, Secretary of the State of Missouri, do hereby certify that the records in my office and in my care and custody reveal that

K.L.M. TELEPHONE COMPANY T00000598

was created under the laws of this State on the 17th day of January, 1955, and is in good standing, having fully complied with all requirements of this office.

IN TESTIMONY WHEREOF, I have set my hand and imprinted the GREAT SEAL of the State of Missouri, on this, the 14th day of June, 2011



Secretary of State Certification Number: 13911591-1 Reference:

Verify this certificate online at https://www.sos.mo.gov/businessentity/soskb/verify.asp

THE STATE OF THE S

Exhibit 17





CORPORATION DIVISION
CERTIFICATE OF GOOD STANDING

I, ROBIN CARNAHAN, Secretary of the State of Missouri, do hereby certify that the records in my office and in my care and custody reveal that

LATHROP TELEPHONE COMPANY 00132327

was created under the laws of this State on the 25th day of October, 1968, and is in good standing, having fully complied with all requirements of this office.

IN TESTIMONY WHEREOF, I have set my hand and imprinted the GREAT SEAL of the State of Missouri, on this, the 14th day of June, 2011

Secretary of State
Certification Number: 13911592-1 Reference:

Verify this certificate online at https://www.sos.mo.gov/businessentity/soskb/verify.asp

Exhibit 18





CORPORATION DIVISION CERTIFICATE OF GOOD STANDING

I, ROBIN CARNAHAN, Secretary of the State of Missouri, do hereby certify that the records in my office and in my care and custody reveal that

LE-RU TELEPHONE COMPANY T00000646

was created under the laws of this State on the 23rd day of August, 1962, and is in good standing, having fully complied with all requirements of this office.

IN TESTIMONY WHEREOF, I have set my hand and imprinted the GREAT SEAL of the State of Missouri, on this, the 14th day of June. 2011

Secretary of State

Certification Number: 13911593-1

Verify this certificate online at https://www.sos.mo.gov/businessentity/soskb/verify.asp

Exhibit 19

SOS #30 KO1-20051





CORPORATION DIVISION CERTIFICATE OF GOOD STANDING

I, ROBIN CARNAHAN, Secretary of the State of Missouri, do hereby certify that the records in my office and in my care and custody reveal that

MARK TWAIN RURAL TELEPHONE COMPANY T00000578

was created under the laws of this State on the 27th day of February, 1953, and is in good standing, having fully complied with all requirements of this office.

IN TESTIMONY WHEREOF, I have set my hand and imprinted the GREAT SEAL of the State of Missouri, on this, the 14th day of June, 2011



Certification Number: 13911594-1 Reference:

Verify this certificate online at https://www.sos.mo.gov/businessentity/soskb/verify.asp

THE STATE OF THE S

Exhibit 20





CORPORATION DIVISION
CERTIFICATE OF GOOD STANDING

I, ROBIN CARNAHAN, Secretary of the State of Missouri, do hereby certify that the records in my office and in my care and custody reveal that

MARK TWAIN COMMUNICATIONS COMPANY 00263969

was created under the laws of this State on the 3rd day of May, 1984, and is in good standing, having fully complied with all requirements of this office.

IN TESTIMONY WHEREOF, I have set my hand and imprinted the GREAT SEAL of the State of Missouri, on this, the 14th day of June, 2011

Alm Camphan Secretary of State

Certification Number: 13911595-1 Reference:

Verify this certificate online at https://www.sos.mo.gov/businessentity/soskb/verify.asp

THE

Exhibit 21





CORPORATION DIVISION CERTIFICATE OF GOOD STANDING

I, ROBIN CARNAHAN, Secretary of the State of Missouri, do hereby certify that the records in my office and in my care and custody reveal that

MCDONALD COUNTY TELEPHONE COMPANY T00000617

was created under the laws of this State on the 23rd day of November, 1956, and is in good standing, having fully complied with all requirements of this office.

IN TESTIMONY WHEREOF, I have set my hand and imprinted the GREAT SEAL of the State of Missouri, on this, the 14th day of June, 2011

Secretary of State
Certification Number: 13911596-1 Reference:

Verify this certificate online at https://www.sos.mo.gov/businessentity/soskb/verify.asp

TO THE PARTY OF TH





CORPORATION DIVISION CERTIFICATE OF GOOD STANDING

I, ROBIN CARNAHAN, Secretary of the State of Missouri, do hereby certify that the records in my office and in my care and custody reveal that

MILLER TELEPHONE COMPANY T00000596

was created under the laws of this State on the 9th day of December, 1954, and is in good standing, having fully complied with all requirements of this office.

IN TESTIMONY WHEREOF, I have set my hand and imprinted the GREAT SEAL of the State of Missouri, on this, the 14th day of June, 2011

Secretary of State 11597-1 Reference:

Certification Number: 13911597-1

Verify this certificate online at https://www.sos.mo.gov/businessentity/soskb/verify.asp

STATE OF MISSOURI



Robin Carnahan Secretary of State

CORPORATION DIVISION CERTIFICATE OF GOOD STANDING

I, ROBIN CARNAHAN, Secretary of the State of Missouri, do hereby certify that the records in my office and in my care and custody reveal that

NEW FLORENCE TELEPHONE COMPANY T00000634

was created under the laws of this State on the 22nd day of December, 1959, and is in good standing, having fully complied with all requirements of this office.

IN TESTIMONY WHEREOF, I have set my hand and imprinted the GREAT SEAL of the State of Missouri, on this, the 14th day of June, 2011



Secretary of State Certification Number: 13911598-1 Reference:

Verify this certificate online at https://www.sos.mo.gov/businessentity/soskb/verify.asp

erify.asp
Exhibit 24





CORPORATION DIVISION CERTIFICATE OF GOOD STANDING

I, ROBIN CARNAHAN, Secretary of the State of Missouri, do hereby certify that the records in my office and in my care and custody reveal that

NEW LONDON TELEPHONE COMPANY T00280833

was created under the laws of this State on the 24th day of September, 1985, and is in good standing, having fully complied with all requirements of this office.

IN TESTIMONY WHEREOF, I have set my hand and imprinted the GREAT SEAL of the State of Missouri, on this, the 14th day of June, 2011



Secretary of State Certification Number: 13911599-1 Reference:

Verify this certificate online at https://www.sos.mo.gov/businessentity/soskb/verify.asp



Exhibit 25

SOS KOD KOL-200S





CORPORATION DIVISION CERTIFICATE OF GOOD STANDING

I, ROBIN CARNAHAN, Secretary of the State of Missouri, do hereby certify that the records in my office and in my care and custody reveal that

NORTHEAST MISSOURI RURAL TELEPHONE COMPANY T00000571

was created under the laws of this State on the 20th day of October, 1952, and is in good standing, having fully complied with all requirements of this office.

IN TESTIMONY WHEREOF, I have set my hand and imprinted the GREAT SEAL of the State of Missouri, on this, the 14th day of June, 2011

Secretary of State
Number: 13911600-1 Reference:

Certification Number: 13911600-1 Reference:
Verify this certificate online at https://www.sos.mo.gov/businessentity/soskb/verify.asp

CANADA DANCA DANCA SANGRAMANA MANGAMAN SANGRASAN MASANAN SANGRASAN MASANAN SANGRASAN MASANAN SANGRASAN MASANAN

THE





CORPORATION DIVISION CERTIFICATE OF GOOD STANDING

I, ROBIN CARNAHAN, Secretary of the State of Missouri, do hereby certify that the records in my office and in my care and custody reveal that

ORCHARD FARM TELEPHONE CO. T00000621

was created under the laws of this State on the 17th day of December, 1957, and is in good standing, having fully complied with all requirements of this office.

IN TESTIMONY WHEREOF, I have set my hand and imprinted the GREAT SEAL of the State of Missouri, on this, the 14th day of June, 2011

Secretary of State Certification Number: 13911601-1 Reference:

Verify this certificate online at https://www.sos.mo.gov/businessentity/soskb/verify.asp

Exhibit 27





CORPORATION DIVISION CERTIFICATE OF GOOD STANDING

I, ROBIN CARNAHAN, Secretary of the State of Missouri, do hereby certify that the records in my office and in my care and custody reveal that

THE OREGON FARMERS MUTUAL TELEPHONE COMPANY T00000413

was created under the laws of this State on the 4th day of May, 1910, and is in good standing, having fully complied with all requirements of this office.

IN TESTIMONY WHEREOF, I have set my hand and imprinted the GREAT SEAL of the State of Missouri, on this, the 14th day of June, 2011



Certification Number: 13911602-1 Reference:
Verify this certificate online at https://www.sos.mo.gov/businessentity/soskb/verify.asp

THE

Exhibit 28





CORPORATION DIVISION CERTIFICATE OF GOOD STANDING

I, ROBIN CARNAHAN, Secretary of the State of Missouri, do hereby certify that the records in my office and in my care and custody reveal that

OZARK TELEPHONE COMPANY 00398461

was created under the laws of this State on the 12th day of July, 1994, and is in good standing. having fully complied with all requirements of this office.

IN TESTIMONY WHEREOF, I have set my hand and imprinted the GREAT SEAL of the State of Missouri, on this, the 14th day of June, 2011



Verify this certificate online at https://www.sos.mo.gov/businessentity/soskb/verify.asp





CORPORATION DIVISION
CERTIFICATE OF GOOD STANDING

I, ROBIN CARNAHAN, Secretary of the State of Missouri, do hereby certify that the records in my office and in my care and custody reveal that

PEACE VALLEY TELEPHONE CO., INC. 00310800

was created under the laws of this State on the 20th day of January, 1988, and is in good standing, having fully complied with all requirements of this office.

IN TESTIMONY WHEREOF, I have set my hand and imprinted the GREAT SEAL of the State of Missouri, on this, the 14th day of June, 2011

Secretary of State
Certification Number: 13911604-1 Reference:

Certification Number: 13911604-1 Reference:

Verify this certificate online at https://www.sos.mo.gov/businessentity/soskb/verify.asp

Exhibit 30





CORPORATION DIVISION CERTIFICATE OF GOOD STANDING

I, ROBIN CARNAHAN, Secretary of the State of Missouri, do hereby certify that the records in my office and in my care and custody reveal that

ROCK PORT TELEPHONE COMPANY 00116543

was created under the laws of this State on the 11th day of May, 1965, and is in good standing, having fully complied with all requirements of this office.

IN TESTIMONY WHEREOF, I have set my hand and imprinted the GREAT SEAL of the State of Missouri, on this, the 14th day of June, 2011



Verify this certificate online at https://www.sos.mo.gov/businessentity/soskb/verify.asp

Exhibit 31





CORPORATION DIVISION CERTIFICATE OF GOOD STANDING

I, ROBIN CARNAHAN, Secretary of the State of Missouri, do hereby certify that the records in my office and in my care and custody reveal that

SENECA TELEPHONE COMPANY T00000568

was created under the laws of this State on the 6th day of December, 1951, and is in good standing, having fully complied with all requirements of this office.

IN TESTIMONY WHEREOF, I have set my hand and imprinted the GREAT SEAL of the State of Missouri, on this, the 14th day of June, 2011

Secretary of State
Certification Number: 13911606-1 Reference:

Verify this certificate online at https://www.sos.mo.gov/businessentity/soskb/verify.asp

Exhibit 32



CORPORATION DIVISION CERTIFICATE OF GOOD STANDING

I, ROBIN CARNAHAN, Secretary of the State of Missouri, do hereby certify that the records in my office and in my care and custody reveal that

STEELVILLE TELEPHONE EXCHANGE, INC. T00000570A

was created under the laws of this State on the 6th day of May, 1952, and is in good standing, having fully complied with all requirements of this office.

IN TESTIMONY WHEREOF, I have set my hand and imprinted the GREAT SEAL of the State of Missouri, on this, the 14th day of June, 2011

Secretary of State

Certification Number: 13911607-1

Verify this certificate online at https://www.sos.mo.gov/businessentity/soskb/verify.asp







CORPORATION DIVISION CERTIFICATE OF GOOD STANDING

I, ROBIN CARNAHAN, Secretary of the State of Missouri, do hereby certify that the records in my office and in my care and custody reveal that

THE STOUTLAND TELEPHONE COMPANY T00000644

was created under the laws of this State on the 2nd day of May, 1962, and is in good standing, having fully complied with all requirements of this office.

IN TESTIMONY WHEREOF, I have set my hand and imprinted the GREAT SEAL of the State of Missouri, on this, the 14th day of June, 2011



Verify this certificate online at https://www.sos.mo.gov/businessentity/soskb/verify.asp

Exhibit 34

SHOW AND AND AIR

HIGHLY CONFIDENTIAL - EXHIBIT 35C

Recent Wireless Summary Records from ATT indicating Halo Wireless' Traffic

	IIOM aniamaiamax	(at the land	Docin Comp	Doeln Comn	Intractate	Intractate Acrose
Company	for Month	Switch Insulation to	Rate	Amount		Amount
A	8	C (Bx12)	۵	[C-D]		G (C-F)
BPS Telephone Company	42973	515676	0.0093	\$4,795.79	90860:0	\$50,567.19
Citizens Telephone Company	101089	1213068	0.0073	\$8,855.40	0.11397	\$138,253.36
Craw-Kan Telephone Cooperative, Inc.	808	920326	0.0257	\$24,938.15	0.08801	\$85,401.03
Ellington Telephone Company	61329	735948	0.0277	\$20,385.76	0.13141	\$96,710.93
Farber Telephone Company	3922	47064	0.018	\$847.15	0.10136	\$4,770.41
Fidelity Telephone Company	303409	3640908	0.035	\$127,431.78	0.09343	\$340,170.03
Fidelity Communications Services I	346087	4153044	0.035	\$145,356.54	0.09568	\$397,363.25
Fidelity Communications Services II	92//	93072	0.035	\$3,257.52	0.10504	\$9,776.28
Goodman Telephone Company	20749	248988	0.0168	\$4,183.00	0.04845	\$12,063.47
Granby Telephone Company	80365	964380	0.0054	\$5,207.65	0.09687	\$93,419.49
Grand River Mutual Telephone Corporation	507783	9622609	0.0209	\$127,351.98	0.11159	\$679,962.06
Green Hills Telephone Corporation	170055	2040660	0.0269	\$54,893.75	0.08778	\$179,129.13
Green Hills Telecommunications Services	7052	84624			0.0957	\$8,098.52
Holway Telephone Company	20274	243288	0.0383		0.12439	\$30,262,59
lamo Telephone Company	25000	30000	0.041	\$12,300.00	0.09606	\$28,818.00
Kingdom Telephone Company	70515	846180	0.023	\$19,462.14	0.0847	\$71,671.45
KLM Telephone Company	63802	765624	0.0212	\$16,231.23	0.11714	\$89,685.20
Lathrop Telephone Company	52038	624456	6900'0	\$4,308.75	0.04212	\$26,302.09
Le-Ru Telephone Company	20099	792024	0.0166		0.09187	\$72,763.24
Mark Twain Rural Telephone Company	164532	1974384	0.0289	\$57,059.70	0.10739	\$212,029.10
Mark Twain Communications Co.	17404	208848	0.025	\$5,221.20	0.08552	\$17,860.68
McDonald County Telephone Company	43113	517356	0.0083	\$4,294.05	0.08717	\$45,097.92
Miller Telephone Company	15958	191496	0.0072		0.14052	\$26,909.02
New Florence Telephone Company	12550		0.0079		0.1094	\$16,475.64
New London Telephone Company	10476	125712	0.0175		0.06029	\$7,579.18
Northeast Missouri Rural Telephone Co.	150128	1801536		\$	0.149	\$268,428.86
Orchard Farm Telephone Company	2637	67644	0.0175		0.09862	\$6,671.05
Oregon Farmers Mutual Telephone Co.	36134	433608	0.0108	\$4,682.97	0.10696	\$46,378.71
Ozark Telephone Company	18625	223500	0.0179	\$4,000.65	0.0185	\$4,134.75
Peace Valley Telephone Company, Inc.	6642	79704	0.0166	\$1,323.09	0.21585	\$17,204.11
Rock Port Telephone Company	60082	720984	0.0273	\$19,682.86	0.04844	\$34,924.46
Seneca Telephone Company	19836	238032	0.0073	\$1,737.63	0.07307	\$17,393.00
Steelville Telephone Exchange, Inc.	148093	1777116	0.0095	\$16,882.60	0.1207	\$214,497.90
Stoutland Telephone Company	21274		0.01476		0.13659	\$34,869.79
TOTALS	2761547	33138564		3792,046.51		\$3,385,641.89